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Course Title : Inductive Logic (Western)
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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10

fafiie @-@IeE vl darew Ter nie -

a)  What is Inductive Logic? Give an example.

AR e FE @2 GF0 Suige s |
b)  What is inductive generalization?
SIS AR FIF 06 2

c) What is the unscientific explanation?

SAeEleE AR FIE T2
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d) What is Ad hoc-Hypothesis?

T o I A2
e¢) What is the Mill’s method of residues?
e sAfaeia swfet Fe
f)  What is the probability?
TGy 2
g)  What is analogical argument?
TNl Y& FICP 0T 2
h)  What do you mean by a cause?
I FeIce [ @Rie

Answer any four of the following questions:
5x4=20
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a) What is meant by sufficient conditions and
necessary conditions? Give examples.
Y W ¢ WRMF *$ e & @Rk Trzad
s |

b) Explain the different steps of scientific

investigation.
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d)

Give the canonic statement of the joint method
of agreement and difference. Point out merit of
the method. 1+4
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Give a brief account of a-priori theory of
probability.
AGRYS T o oslma weba ke #ifaea wie |

What is the probability of getting at least one head

in three tosses of a coin?

G IS o (el T oo G A AT
NG FO 2

Discuss the characteristics of scientific

explanation.
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3.  Answer any one of the following questions:

10x1=10
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a)
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Explain and illustrate Mill’s method of

agreement.
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b)

c)
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Answer the following questons:
AIea eiefers Ter wie ¢

1)  What is the probability of getting at least
one head in four successive tosses of a fair

coin?
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11)  What is the probability of getting three aces
in three successive draws from a deck of
cards if the card drawn is replaced before

the next draw?
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Explain the criteria for evaluating analogical

argument.
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